
6

5

4

3

2

1

LARGE ROD GUIDE ASSEMBLY
A5-008-A03

1

6

5

4

3

2

SMALL ROD GUIDE ASSEMBLY
A5-008-A02

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 A5-008-004 ROD SLIDE - TALL 1
2 A5-008-005 ROD GUIDE ROLLER SHAFT 1
3 A5-075-008 ROD GUIDE ROLLER 1
4 A5-075-009 .625 HALF NUT 2
5 .625 FLAT WASHER 5/8" FLAT WASHER 4
6 .625 NC NUT 5/8" NC NUT 2

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 A5-008-003 SHORT ROD SLIDE 1
2 A5-008-005 ROD GUIDE ROLLER SHAFT 1
3 A5-075-008 ROD GUIDE ROLLER 1
4 A5-075-009 .625 HALF NUT 2
5 .625 FLAT WASHER 5/8" FLAT WASHER 4
6 .625 NC NUT 5/8" NC NUT 2

D

C

B

AA

B

C

D

1345678

8 7 6 5 4 3 2 1

CHECKED

ZINEX MINING CORP.
SIZE DWG.  NO.

A
NAME DATE

DRAWN

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
ZINEX MINING CORP. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT 
THE WRITTEN PERMISSION OF ZINEX MINING CORP. IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL LARGE ROD GUIDE 
ASSEMBLYC.S. 2015-09-10

2014-11-10

2
C.S. A5-008-A03


	Sheet1
	Drawing View1
	Drawing View2


